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1. Vocabulary: 20%

Choose the most appropriate word according to the given context, and then write its

corresponding letter on your answer sheet.

1. Viruses are very small

(A) organisms  (B) mechanics  (C) organics (D) materials

2. Your report was not so well prepared as this one.

(A) prevail  (B) previous (C) prescribe (D) pretext

3. If you too long, you may miss a wonderful opportunity.
(A) hesitate  (B) loiter  (C) insist (D) suspect

4. A deaf person who is at lip reading can often adapt himself to college life.

(A) competent  (B) capable (C) proficient (D) coherent
5. The governor was forced to resign his position when his bribe-taking practices were

to the public.
(A) composed (B) supposed (C) exposed (D) disposed

6. If you your anger constructively, your life will become much easier.
(A)allocate  (B) channel

(C)activate (D) isolate

7. Hospitals usually donot ___a patient until the doctors feel the person is ready to go home.

(A)discharge (B) dissociate (C) disapprove (D) dissolve

8. The farmers were bothered by hunters on their fields.

(A) transits

(B) transparent

9. We must always leam how to an obstacle.

(A) surmount  (B) surrender  (C) surcharge

(C) transitory (D) trespass

(D) superb

10. At this in our nation’s affairs, we need firm leadership.

(A) function (B) juncture (C)structure (D) junction

II. Grammar. 20%

In questions 1-10, each sentence has four underlined words or phrases marked (A), (B),(C),
and (D). You are to identify the one that should be corrected and then write its corresponding
letter on your answer sheet.

L

For example: Many water is needed for people living in drv area.

The best answer is (A)

A

China is outshining

B

C

D

both of'its past efforts to create a legacy afier the Beijing Olympics

A

with the Shanghai World Expo.

D

B

% g
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2. Anthropologists have noted that man has flourished for a surprising long time
A B
with no increase in the size of his brain.
C D
3. Taiwan is generally considered one of the most influential PC producer of the world.
A B £ D
4. Alarge factory employs a number of engineers whom control the machines.
A B C D

5. My brother’s restaurant has become very popular since it has opened three months ago.

A B C D
6. The more that she tried to remove the stain, the worse it looked.

A B C D
7. 1 found the incident too disturbing that | was hardly able to tell the police

A B C

what had happened.
D
8. Geological evidence indicates what the formation of coal one foot thick requires more than
A B
twenty times that of the original material to be compacted.
C D
9. Jet airplanes have made that possible for people to travel around the world in just a few days.
A B C D
10. After waiting in line for three hours, much to our disappointment, the tickets had
A B
been sold out when we reached the window.
C D

1. Cloze Test: 30%

In the following passage, there are fifteen blanks where words or phrases are left out. For each
blank, there are four choices marked (A), (B), (C), and (D). One of the choices best fits the blanks.
Choose the best answer and write its corresponding letter on the answer sheet.

A

The prevention of child abuse is a difficult and multifaceted task. The importance of
preventingit, 1, cannot be overemphasized, because the physical and psychological
consequences of abuse 2 . Child abuse can result not only in physical handicaps 3
in severe neurological problems. A blow to the head can cause bleeding inside a child’s skull,
ultimately 4 brain damage. What is particularly surprisingand 5 is that infants,
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6 are much larger than their brains can suffer hemorrhages throughout the brain simply
by 7 . Known as the shaken baby syndrome, this form of abuse can cause brain damage
aswell 8  wvisual problems and deficits 9 language and motor skills.

1.(A)what (B)however (C)because (D)why

2. (A) can be very serious  (B) serious be very  (C) serious can be very (D) can serious
J.(A)and (B)or (C)so (D)butalso

4.(A)leadto (B)tolead (C)leadingto (D) toleading

5.(A)disturb  (B) disturbing  (C)to disturb (D) disturbed

6. (A) that skulls  (B) which skulls  (C) who skulls (D) whose skulls

7.(A) being shaken (B) shaken (C)be shakening (D) shake

8.(A)and (B)but (C)so (D)as

9.(A)on (B)in (C)at (D)to

B.

As people get older, they usually begin to experience physical problems. They often
begin to lose their eyesight, their memory, and they become 10 . Getting older is a fact of
life, _11__, and there is nothing you can do to stop the years from passing. Some scientists
at Tufts University in Boston __12__ that there may be a way to prevent some of the physical
problems 13 aging. In experiments with rats 14 was the same as humans 15,
the scientists fed the animals half a cup of blueberries every day. Afier eight weeks, the rats
showed improved physical skills.

10. (A) able less to getting around  (B) able to less get around
(C) less able to get around (D) getting less to able around
11. (A) of course  (B) otherwise  (C) however (D) therefore
12. (A) has discovering  (B) have discover (C) have had discovered (D) have discovered
13. (A) associate to  (B) associatesto  (C) associated with (D) associating at
14, (A) that age (B) whose age (C)whoage (D) which age
15. (A) at sixty-five  (B) on sixty-five (C) in sixty-five (D) with sixty-five

I'V. Composition: 30%

Write an English composition in about 250-300 words. Your composition must contain an
introductory paragraph, one or two discussion paragraphs, and a concluding paragraph.
If you could make one important change in a school that you attended. What change

would you make? Use reasons and specific examples to support your answers.
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